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Name: Class:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve for x: —Ex—ax:?[—gx— 1]+b

— 3

A) x_?—cx
b

B) _b-7
@

C) x:?—b
@

D) x:a—b
7

E) . %i-ua
S

2. Solve for x, rounding your answer to the nearest thousandth.
2657139741932 - 0.27)=5968x - 3

A) 0.003
B) 0.510
C) 0.061
D) -54.668
E) 6.525

3. Solve the following equation.

r+4 x-3
5 g

A) 7

B) __39
C) 19
D) __51

E)

Date:
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Determine any point(s) of intersection between the following equations.
y=3-=x

_6_9
Y=575

A (9
1

| =] RN

|

4
B) (3 @
4

T
[ -

|G .h.Ixo
| ™2
R —

|
a1
e

C)
D)

E) ( 1

5
. Simplify (-4 +:)(—%+ 3¢} and write the answer in standard form.
A) -11-2%

B) 31-4%

C) —41-2%

D) —41+41

E) 31-2%
445

& : and write the answer in standard form.

0] e _&_|-—~

—

. Simplify
A)

_h
[~
i

vy

~—~
fea
(5 N]

O
N
o | I ua| by

>

a2 ol uh Onl Lk
+ +

E)

|
| 2

+
o |

. Solve 9+4x* - 12x =0 by factoring.
A L3
2
B) x=2,-3
C) . _
xr=

D) ==
E) ..

|l WA ]

-2

(UYL T RN
[ENY N
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Find two quadratic equations having the following solutions.

3+2.06, 3-2.06

A) x*—bx+24=0; 2x°—12x+48=0

B) x*—15=0: 2x°-30=0

C) x%—6x-15=0: 2x°—12x-30=0

D) x*+12x-15=0; 2x°+24x-30=0

E) x—6x+12=0: 2x°—12x+24=0

Find all solutions of the following equation algebraically.

=] o

E) »=3,2

Find all solutions of ~x — A/x—13 = 1.

A x=7

B) x=./7

C) x=14

D) x=43

E) x=-7

Find all solutions of the following equation algebraically.

a2 4 o0m P 2520

A) 5
m=-7
B) _25
4
c) , __125
R
D) . __25
4
E)
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Find all solutions of the following equation algebraically.
(x+8)%7 =4

A) x:ijﬁ—B
B) x=—4
C) x=3fa-¢4
D) ,_1

a8
E) x=0

5 342
Find all solutions of [x +?] = A,
A) x=+3

B) x = i‘]ﬁ

C) x=-3

D) x=4

B) »=£f7

Find the x-intercepts of the graph of the equation y = 2z + /59— 35x
A) (9,0)

B) (o0, %,0
C) (=9.0)

D) (10,0 %,0
B) t10.0) %0

Set =0 and solve the resulting equation.

=27 -2 ¢
X

Jx

A) y=-2,25

B) y=10

C) ¥=-2,10

D) y=2:5

E) »=3

Find all solutions of the following equation.

k5| =x°—5x

A =01
B) x=0,5
C) x=-1,5
D) x=-1,0
E) x=-1
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Find all solutions of the following equation.
x—H= |x2 — Bx ‘

A x=1,8

B) x=-88

C) x=-5,10

D) x=28

E) x=0,1

Given the following equation, set = 0 and solve the resulting equation.
1

y=x+ m +4

A) x=-4

B) x=-4,4

C) »=-3,3

D) x=-3

E) x=4

Find the x-intercepts of the graph of the equation y = |-7x + 2| - 3.

A) (1 5
70} (5]

B) s 1 L S 5
"_III|:| ) ?:D]

C) - 1 o

"

]

-

~1
S| R I O R P

~

D) - 5 !

]

-
~

E) I 1 ,
"_II|| E )
Find an equation that has x = i,—1, =5, and 4 as solutions.
A) »ax® 1o ex—o0=0
B) x*+x - 21xf+x-20=0
C) x*ror1oxi4x—20=0

4

4

]

D) x*+ox’— 21z +x-20=0
BE) »x*4+x1ox®4ox—20=0
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21. Use absolute value notation to define the interval shown below.

" & 3 -
| \L ! L
-3 3

A) |x+3| <0
B) |x|»-3
C) |I3-x|=>0
D) |x] <3
E) [x=3|=0
22. Determine the intervals on which the following polynomial is entirely negative and those on which
it is entirely positive.

—xf—0x+3

A) entirely negative: {—e0,2); entirely positive: (2,c0)

B) entirely negative: {—ea,—3], (1,2); entirely positive: (—3,2)
C) entirely negative: {—oo,—3), (1,c0); entirely positive: (—3,1)
D) entirely negative: {—3.2); entirely positive: (—co,=3), (1,2]
E) entirely negative: (—eo,03; entirely positive: {0,co]

23. Solve: x° —5x—14 <0
A) (—oo,-5)
B) (-2,co)
C) (-2,7)
D) (o0, 7)
E) (7,co)
24. Determine whether there is positive correlation, negative correlation, or no discernible correlation
between the variables shown in the scatter plot below.

A) positive correlation
B) negative correlation
C) no discernable correlation
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25. The scatter plots of different data are shown below. Determine whether there is a positive
correlation, negative correlation, or no discernible correlation between the variables.

o 12 3 4 s

A) negative correlation
B) no discernible correlation
C) positive correlation
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Name: Class:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve for x: l—fx—ax: 8[%){— 1]+b

A) _b-8

| =

%Y
~

el

P

| o2
b

S
ca

| i

)
~
Za
g

| &
=

m
N—r”
I""_b'-u

3
2. Solve for x, rounding your answer to the nearest thousandth.

2657 - 1.397(4.193x - 0.27) = 5.968x - 3

A) 0.003
B) 0.510
C) 0.061
D) -54.668
E) 6.525

3. Solve the following equation.

r+4 x-3
5 g

A) 7

B) __39
C) 19
D) __51

E)

Date:
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Determine any point(s) of intersection between the following equations.
y=3-=x

_6_9
Y=575

A (9
1

| =] RN

|

4
B) (3 @
4

T
[ -

|G .h.Ixo
| ™2
R —

|
a1
e

C)
D)

E) ( 1

5
. Simplify (-4 +:)(—%+ 3¢} and write the answer in standard form.
A) -11-2%

B) 31-4%

C) —41-2%

D) —41+41

E) 31-2%
445

& : and write the answer in standard form.

0] e _&_|-—~

—

. Simplify
A)

_h
[~
i

vy

~—~
fea
(5 N]

O
N
o | I ua| by

>

a2 ol uh Onl Lk
+ +

E)

|
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+
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. Solve 9+4x* - 12x =0 by factoring.
A L3
2
B) x=2,-3
C) . _
xr=

D) ==
E) ..

|l WA ]

-2

(UYL T RN
[ENY N
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Find two quadratic equations having the following solutions.

3+2.06, 3-2.06

A) x*—bx+24=0; 2x°—12x+48=0

B) x*—15=0: 2x°-30=0

C) x%—6x-15=0: 2x°—12x-30=0

D) x*+12x-15=0; 2x°+24x-30=0

E) x—6x+12=0: 2x°—12x+24=0

Find all solutions of the following equation algebraically.

=] o

E) »=3,2

Find all solutions of ~x — A/x—13 = 1.

A x=7

B) x=./7

C) x=14

D) x=43

E) x=-7

Find all solutions of the following equation algebraically.

a2 4 o0m P 2520

A) 5
m=-7
B) _25
4
c) , __125
R
D) . __25
4
E)
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Find all solutions of the following equation algebraically.
(x+8)%7 =4

A) x:ijﬁ—B
B) x=—4
C) x=3fa-¢4
D) ,_1

a8
E) x=0

5 342
Find all solutions of [x +?] = A,
A) x=+3

B) x = i‘]ﬁ

C) x=-3

D) x=4

B) »=£f7

Find the x-intercepts of the graph of the equation y = 2z + /59— 35x
A) (9,0)

B) (o0, %,0
C) (=9.0)

D) (10,0 %,0
B) t10.0) %0

Set =0 and solve the resulting equation.

=27 -2 ¢
X

Jx

A) y=-2,25

B) y=10

C) ¥=-2,10

D) y=2:5

E) »=3

Find all solutions of the following equation.

k5| =x°—5x

A =01
B) x=0,5
C) x=-1,5
D) x=-1,0
E) x=-1


https://testbanks.ac/product/9781305071728-TEST-BANK-5/

17.

18.

19.

20.

[CLI CK HERE TO ACCESS THE COVPLETE Test BanK

Find all solutions of the following equation.
x—H= |x2 — Bx ‘

A x=1,8

B) x=-88

C) x=-5,10

D) x=28

E) x=0,1

Given the following equation, set = 0 and solve the resulting equation.
1

y=x+ m +4

A) x=-4

B) x=-4,4

C) »=-3,3

D) x=-3

E) x=4

Find the x-intercepts of the graph of the equation y = |-7x + 2| - 3.

A) (1 5
70} (5]

B) s 1 L S 5
"_III|:| ) ?:D]

C) - 1 o

"

]

-

~1
S| R I O R P

~

D) - 5 !

]

-
~

E) I 1 ,
"_II|| E )
Find an equation that has x = i,—1, =5, and 4 as solutions.
A) »ax® 1o ex—o0=0
B) x*+x - 21xf+x-20=0
C) x*ror1oxi4x—20=0

4

4

]

D) x*+ox’— 21z +x-20=0
BE) »x*4+x1ox®4ox—20=0
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21. Use absolute value notation to define the interval shown below.

" & 3 -
| \L ! L
-3 3

A) |x+3| <0
B) |x|»-3
C) |I3-x|=>0
D) |x] <3
E) [x=3|=0
22. Determine the intervals on which the following polynomial is entirely negative and those on which
it is entirely positive.

—xf—0x+3

A) entirely negative: {—e0,2); entirely positive: (2,c0)

B) entirely negative: {—ea,—3], (1,2); entirely positive: (—3,2)
C) entirely negative: {—oo,—3), (1,c0); entirely positive: (—3,1)
D) entirely negative: {—3.2); entirely positive: (—co,=3), (1,2]
E) entirely negative: (—eo,03; entirely positive: {0,co]

23. Solve: x° —5x—14 <0
A) (—oo,-5)
B) (-2,co)
C) (-2,7)
D) (o0, 7)
E) (7,co)
24. Determine whether there is positive correlation, negative correlation, or no discernible correlation
between the variables shown in the scatter plot below.

A) positive correlation
B) negative correlation
C) no discernable correlation


https://testbanks.ac/product/9781305071728-TEST-BANK-5/

[CLI CK HERE TO ACCESS THE COVPLETE Test BanK

25. The scatter plots of different data are shown below. Determine whether there is a positive
correlation, negative correlation, or no discernible correlation between the variables.

o 12 3 4 s

A) negative correlation
B) no discernible correlation
C) positive correlation
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D
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ICLI CK HERE TO ACCESS THE COMPLETE Test Bank
PTS: 1 DIF:  Medium REF: 41-56
PTS: 1 DIF:  Medium REF: 21-34
PTS: 1 DIF: Medium REF: 21-34
PTS: 1 DIF: Medium REF: 57-64
PTS: 1 DIF:  Medium REF: 25-36
PTS: 1 DIF: Medium REF: 45-52
PTS: 1 DIF: Medium REF. 5-14
PTS: 1 DIF: Medium REF: 67-76
PTS: 1 DIF:  Medium REF: 1-14
PTS: 1 DIF: Medium REF: 19-48
PTS: 1 DIF: Medium REF: 19-48
PTS: 1 DIF:  Medium REF: 19-48
PTS: 1 DIF: Medium REF: 19-48
PTS: 1 DIF: Medium REF: 49-52
PTS: 1 DIF: Medium REF: 49-52
PTS: 1 DIF: Difficult REF: 53-66
PTS: 1 DIF: Difficult REF: 53-66
PTS: 1 DIF: Medium REF: 67-70
PTS: 1 DIF: Medium REF: 67-70
PTS: 1 DIF:  Medium REF: 87-92
PTS: 1 DIF: Medium REF: 39-46
PTS: 1 DIF:  Medium REF: 47-52
PTS: 1 DIF:  Medium REF: 53-62
PTS: 1 DIF: Easy REF: 3-6
PTS: 1 DIF: Easy REF: 3-6
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Name: Class:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve for x: 3—32x—czx: 8[%){— 1]+b

A) _b-8

| =

%Y
~
Ca
P

| &
o]

S
i

| o2

)
~

pl

o

8

m
~
Za

=

b
2. Solve for x, rounding your answer to the nearest thousandth.

2761+ 1.765(4.193x - 3.006) = £.478x - 3

A) -0.494
B) -0.033
C) 5.491
D) -0.365
E) 6.009

3. Solve the following equation.

x+5 x-2
2 7

A) 31

B) 7
C) 9
D) . __ 39

E) 37

Date:
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Determine any point(s) of intersection between the following equations.
y=5-x
4 10

=373 7

A) (19 46
373

B) (15 20
R

C) (_11 46
12713

D) (_1 36
T

E) (_11 46
T

. Simplify {4 +:)(=% - 11z} and write the answer in standard form.

A) 47495

B) 47+ 35

C) 53+735

D) 103+ 25

E) 103435

—B— 51

i

. Simplify and write the answer in standard form.

. Solve 9+ 16x*—24x = 0 by factoring.
A 3

B) _

x=

C) ==
D) _

Ilua I
Ny REN

54

| =

4 _
3
E) x=-4,3
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Find two quadratic equations having the following solutions.

1+2.6. 1-2.06

A) x*—2x+24=0; -2x°+4x—-48=10

B) x—2x+12=0: —2x°+4x-24=0

C) x%-2x-23=0: —2x°+4x+46=0

D) x%-23=0; —2x°+46=0

E) x2412x-23=0: —2x°—24x+46=10

Find all solutions of the following equation algebraically.

2
b 2
-@5[H_1] —zo[ﬂ_l]—9_o

Find all solutions of ~/x — Afx—8 = 1.

A x=-5

B) x=10

C) x=5

D) x=./5

E) x=25

Find all solutions of the following equation algebraically.

027 442,17 fag-

A) __ %
79
B) Z::%
C) ,_48
-9
D)Z:_%
E) ,__343

Fil
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12. Find all solutions of the following equation algebraically.
(x-3)2 =25

A) x:if%+3
B) x=28
C) x:if%—?
D) x=128
E) . _ 125

9

342
13. Find all solutions of [xz +5] =27,

A) x=3f5
B) x=-2
C) x=3

D) x=+2

E) x=i§\n'r§

14. Find the x-intercepts of the graph of the equation » = 5z + /6 — 149x
A) (6,0)

B) (7.0) [2—160]
©) e [2—150]

D) 1
(7,0), [E’D]
E) (-6,0)
15. Set y=0 and solve the resulting equation.

y= 3l - 2 12

NS
A) y=-1,25
B) y=1
C) ¥=5
D) ¥y=-1,5
E) »=25
16. Find all solutions of the following equation.

k-9 =x"—9x

A x=-1,0
B) x=-1

C) x=0,5%
D) x=-1,9%

E) x=10,1
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Find all solutions of the following equation.
=4 = |x2 —4x ‘

A x=14

B) x=-4,0

C) ==0,1

D) x=4

E) x=-4,4

Given the following equation, set = 0 and solve the resulting equation.

y:x+L+ID

x+2
A) x=-10, 10
B) x=-38
C) x=-10
D) x=-%9
E) x=10

Find the x-intercepts of the graph of the equation y = |-10x—7| - &.

A [ 13 13
o) (5]

B) {13 1
ﬁ”’]’ [ﬁ=“]

C) { 13 1
30 [35]

D) { 13 1
o) (-]

E) (1 1
o) ()

Find an equation that has x =i,—i, 2, and -5 as solutions.
A) 27 o p e 10=0

B) x*+zx’ 11z +3x-10=0

C) »* 7 11x%43x—10=0
4
4

D) x*+3x’—ox+3x-10=0
BE) x*4+3x®—ox®_7x—10=0
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21. Use absolute value notation to define the interval shown below.

" & 3 -
| \L ! L
-7 7

A) |x+7| <0
B) |x| <7
C) |x=7|=0
D) |x|==7
E) [7-z|=0
22. Determine the intervals on which the following polynomial is entirely negative and those on which
it is entirely positive.

—xt —bx+7

A) entirely negative: (—=7.4); entirely positive: {—oo,=7), (1,4]
B) entirely negative: {—oo,0); entirely positive: [0,ca)
C) entirely negative: {—oo,—7), (1,00); entirely positive: (—7,1)
D) entirely negative: {—co,4); entirely positive: (4,ca)
E) entirely negative: (—eo,=7), (1,4); entirely positive: (=7,4)

23. Solve: x° —2x—24 <0
A) (—oo,6)
B) (—4,6)
C) (—eo,-2)
D) (—4,co)
E) (6,co)
24. Determine whether there is positive correlation, negative correlation, or no discernible correlation
between the variables shown in the scatter plot below.

x

A) negative correlation
B) positive correlation
C) no discernable correlation
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25. The scatter plots of different data are shown below. Determine whether there is a positive
correlation, negative correlation, or no discernible correlation between the variables.

o1 3 3 i 37

A) no discernible correlation
B) negative correlation
C) positive correlation
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Bani

Chapter 2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

A)
B)
C)
D)

E)

ﬂx):x-l-glll]_x+5
U0 S
4 7 4
A T
4
B) ___181
4
C) x—ﬂ
10
D) ___21
4

E)

r=

X

1. Solve: -5(z—-51=-2(2-x)-2

1
==

4

_13
3

_31

11
3

3. Which of the following is a zero of the given function?

none of these

Date:
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. Which of the following is a zero of the given function?
]
Ax)=x+4- =

x=—1,x=-5,z=-6,x=4

A x=-5

B) x=-1

C) x=-6

D) x=4

E) none of these

. Solve the following equation.

x+5 x—-2
5 7
A L3
-1z

B) ,__15
-2

c) _._ 7
"=-3
D) x—é
12

E) ,__ %
-2

. Solve the following equation.

(x+8) +14(x+14) = (x +2)(x + 14)

A, __10
-7
B) x=-22
C) __74
-7
D)  __37
T2
E) 61
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Determine any point(s) of intersection between the following equations.

y=2-x

E) 11?]

Simplify (2 +:)(4+ %) and write the answer in standard form.
A) 23431;
B) 33+21;
C) 23431
D) 3+31;
E) 34+3%
341
S42
A 17 1.
25 729"
B) 17_ 1.
29 29
C) 17 1.

Simplify and write the answer in standard form.

D) 1, 17.

E) 1 17

9
Simplify [m"—S ] and write the answer in standard form.

A) —31./3;

B) The expression cannot be simplified.
C) 8143

D) 81.3:

E) 6561./3:
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Solve 4+ 9x +12x = 0 by factoring.

A 2
T3
B) __ 33
2’2
o), __2 2
3273
D) x=2,3
E) »=-3,-2

Solve the following quadratic equation by factoring.
(w+a) —165% =0

A) w=a, - 168

B) w=a—4b,a+4b
C) w=-—a, 16&

D) w=—a+4db,—a— 4k
E) w=—a+4db a+4b

Solve 0= 4x* +20x + 20 using the quadratic formula.

A _s5+.f5
x=——F"
2
B) ._2
=3
Q)  —2x.5
X=
5
D)  s5+.f5
x=
2
E) +.J5
X=—F
2
Solve the following equation using any convenient method.
(x+9)% = —100
A) x=-10%%
B) x=-100, 10
C) x=-9%10
D) x=-100,-%

E) x=-9 10
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Find all solutions of iz +%+ 15=10.
X
A) x=-573
B) .__11
82
C) x=-5,-3
D) ,_ 1 1
57 3
B ,_1 _1
8’ 2

Find all solutions of the following equation algebraically.

A fz=2 - fz+7 =0

E)

Find all solutions of the following equation algebraically.
(x+4)%% =4
A)

xr=

o] —

B) x=4
C) x=0

D) »=3/4-1¢6
E) x:%‘q—/—l

Find the x-intercepts of the graph of the equation y =7z + /8- 3%1x
A) (8,0}

B (s0), [i,o]
) (0.0, [ ,a]

D) (5 0y, [ ,a]
E) (-2.0)

u-.|,_l .h.|,_l
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Set » =0 and solve the resulting equation.

y=o7r -2 g

N

A) y=73

B) »=-2, 10
C) y=-2,25
D) y=25

E) »=10
Solve: 5(x—=2)1>5x-5
A) x «-2

B) no solution
C) 5<x=2
D) =5

E) x=-3

Use absolute value notation to define the interval shown below.

+———tfe—] ———

-7 9

A) 28— |x+1]=0
B) [x+1|-8=0
C) |x-1]-8=0
D) -7=x=9
E) |-1-z|=38

Solve the inequality 16x — x> <0 and write the solution set in interval notation.

A) (-4.4)
B) (—oo,—4w(0,4)
C) (—eo,4)
D) (—4,0)w (4,00
E) (-oo,c0)
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23. Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic

limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, # = k4 where k is the measure of the stiffness of the spring and is called the

spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 2.1
40 3.8
60 6.0
80 8.0
100 9.9
Sketch a scatter plot of the data.
A) . .
a0-
-
o3 -
:f'rr|1'|'r|'|'rrrr|'rrrr|'rrrrrrrr
2 3 4 5 B
d
B) . .
a0-
-
ol -
:IIII|IIIIIIIII|IIIIII
5 10
d
C) . .
B0- .
o
nd -
:'i"rrn'rrrrrrrn'rrrn'rrrrrrrr

D)

E)

80

41

80

40

:||||||||||||||||||||
2 4 5 a8 10
d

:
5 10 15
d
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24. Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic
limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, = k4 where k is the measure of the stiffness of the spring and is called the
spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 2.8
40 5.0
60 8.0
80 10.6
100 13.2

Find the equation of the line that seems to best fit the data. Use the model to estimate the
elongation of the spring when a force of 30 kilograms is applied. Round your answer to one
decimal place.

A) 6.0 centimeters

B) 4.0 centimeters

C) 8.0 centimeters

D) 3.0 centimeters

E) 2.0 centimeters

25. The average lengths L of cellular phone calls in minutes from 1999 to 2004 are shown in the table

below.
y Year Average length, 1.
{In minutes)
[ 999 2.38
2000 2.56
2001 274
2002 273
2003 287
2004 3

Use the regression feature of a graphing utility to find a linear model for the data. Let t represent
the year, with t =9 corresponding to 1999. Use the model to predict the average lengths of
cellular phone calls for the year 2010. Round your answer to two decimal places.

A) 7.52 minutes

B) 2.76 minutes

C) 4.76 minutes

D) 1.88 minutes

E) 3.76 minutes
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Class:

Chapter 2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1.

Solve: —-7x-71=-3(2-x)-2

A 5T
L
) =18
0 . __ 41
~ 7
D) ;-1
E) ,__41
"0
L2 24
Solve: o T " 3-1- "
A) -3
E
B) ,__2
T
©) 41
D) -2
B =1

Which of the following is a zero of the given function?
x+4 x-5

foy =22 == +4
PO = = PR = R =
2T g E
A __ 55
-T2
B) __%5
-T2
C) __25
-7
D) _35
g

E) none of these

Date:
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. Which of the following is a zero of the given function?

12
ﬂx)—x—ril—?
r=—f, x=-2,x=-8, x=-4
A x=-6
B) x=-2
C) x=-4
D) x=-8

E) none of these
. Solve the following equation.

x+6  x-"
5 &
A) - 81
14
B) __ 19
14

C) ,__41
-4

D) ,__8
-4

E) ,__13
-4

. Solve the following equation.

(x+ 1602 +18(x +18) = (x + 16)(x + 18)

A _89
4

B) ,__73
4

c) ._11
9

D) . __146
B

E) x=-34
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Determine any point(s) of intersection between the following equations.
y=5-x
4 10

e
A {11 46]

7T

@’Ezq
77

C) [ 1 46]

13713
D) 1% 46]

1733
E) (1 36
T
Simplify (-4 +:)(=7 - 2i) and write the answer in standard form.
A) 60420
B) 36452
C) 39425
D) 36+ 25
E) 60+25
. R
Simplify ST E
A _27, 5.
617 61!
B) _53_27,
61 &l
C) 53_27.
61 &1
D) 53, 27,
&1 61
E) 27 53.

and write the answer in standard form.

7
Simplify [m"—S ] and write the answer in standard form.
A) —27.3

B) The expression cannot be simplified.
C) 27,3
D) —27.f3:
E) 729./3
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Solve 4+ 9x +12x = 0 by factoring.

A x=-3-2
B) x——g
3
C) ==2,3
D) .__2 2
33
B) ,__2 2
272

Solve the following quadratic equation by factoring.
(v+a)—25:% =0

A) v=—a+3ba+ b
B) v=a—-25ba+ 2b
C) v=a,—-25b

D) v=—a+5k—a— 2&
E) v=—a, 23&

Solve 0= 64x* +80x +20 using the quadratic formula.

A —5+.5

K=

Solve the following equation using any convenient method.
(x—8)% = -81

A) x=-81,8
B) x=8,9
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Find all solutions of iz +%+ 15=10.
X
A _ 11
8’2
B) x=-3,-3
¢ ,_1_1
g7 2
D) .__1 _1
S5 3
E) x=-3,3

Find all solutions of the following equation algebraically.
dofz—10 - fx+6 =0

A __ 45
i
B)x:%
c) _16
- 15

E) __ 166
N
Find all solutions of the following equation algebraically.

(x—6)%" =9

A) x=3f9 -3¢
B) x=33
C) =15
D) x:if@+5
E) 3

==

4

Find the x-intercepts of the graph of the equation y = 2x + /4 — 15x
A) (—4,0}

B a0, [éo]
C) (4.0)

D) (5,0),[ ,o]
B) (5,0),[ ,o]

= LR —
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Set » =0 and solve the resulting equation.

y=2r - 4
X

N

A) y=4

B) v=3

C) ¥=1

D) y=-1,9%
E) »=-1.3
Solve: T(x—6)1>Tx—-35
A) no solution
B) x «-6

C) x=-36
D) =7

E) -7<x<6

Use absolute value notation to define the interval shown below.

+———tfe—] ———

-8 0

A) |x—4|-4=0
B) [4—x|=4
C) d—|x—4| =0
D) 8=zx=0
E) |x+4|-4=0

Solve the inequality 16x — x> <0 and write the solution set in interval notation.

A) (—o0,4)
B) (—oo,—4w(0,4)
C) (—4,071 (4, e0)
D) (-oo,c0)
E) (-4.,4)
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23. Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic
limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, # = k4 where k is the measure of the stiffness of the spring and is called the
spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 1.4
40 2.5
60 4.0
80 5.3
100 6.6
Sketch a scatter plot of the data.
A) . a D) ; a
BD% a aué .
Fo3 I
o] - ol -
m %
5 10 15 1 2 3
d d
B) . a E) ; a
BD% BEI%
Fo3 I
ol - ni -
:'i"|'|'I'|'|'|'|'I'|'|'|'|'|'|'|'|'|'I'|'|'|'|'I'|'|'r :|||||||||||||||||||||
2 3 4 5 B 5 10
d
C) . .
GE .
F
Pk
1
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24. Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic
limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, = k4 where k is the measure of the stiffness of the spring and is called the
spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 3.5
40 6.3
60 10.0
80 13.3
100 16.5

Find the equation of the line that seems to best fit the data. Use the model to estimate the
elongation of the spring when a force of 35 kilograms is applied. Round your answer to one
decimal place.

A) 2.9 centimeters

B) 8.7 centimeters

C) 4.4 centimeters

D) 5.8 centimeters

E) 11.6 centimeters

25. The average lengths L of cellular phone calls in minutes from 1999 to 2004 are shown in the table

below.
y Year Average length, 1.
{In minutes)
[ 999 2.38
2000 2.56
2001 274
2002 273
2003 287
2004 3

Use the regression feature of a graphing utility to find a linear model for the data. Let t represent
the year, with t =9 corresponding to 1999. Use the model to predict the average lengths of
cellular phone calls for the year 2006. Round your answer to two decimal places.

A) 6.54 minutes

B) 1.64 minutes

C) 2.27 minutes

D) 4.27 minutes

E) 3.27 minutes
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Class:

Chapter 2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1.

Solve: —%(x—-21=-5(2-x)-2

A) x__@

g
B) x:%
c)  _93

14
D) . __53

14
E) x_ﬁ

~ B

_ 7 18
Solve: o T 3-1-°
A L __13

11
B) _13

T3
) ,_-L

T3
D) x:%
E) x:—%
Which of the following is a zero of the given function?

xr—35 x+4
fixy= 5= - 46
Lo 31 48, 23 23
oz 2 40z
A 31

-2
B) . __23

-2
C) ,_=23

T4
D) x_ﬁ

oz

E) none of these

Date:
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. Which of the following is a zero of the given function?

14
ﬂx)—x—ﬁ—?
x=—",x==-2,x=-9 x=-5
A x=-2
B) x=-5
C) x=-7
D) x=-%

E) none of these
. Solve the following equation.

x+4 x-38
4 9
A __ 4
T3

B) __ 44
13

0 .__12
5

D) ,__38
5

E) ,__%8
-5

. Solve the following equation.

(x+18)% - 16(x - 16) = (x + 18)(x - 16)
A) __ 43

B) . __178

C) x=-2
D) a5
x

E) . _ 217
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Determine any point(s) of intersection between the following equations.

y=3-x

o
| o

=
Il
wh
I

B

>
N
.
|w LLh

R

@) 99)
N N
- -
—t
L
R N RV | L
Ian) 2w
N

I\_."||
L ]
L

O
N
.,
|l [ R o .h.|

474

Simplify (=2 +:)(5+ %) and write the answer in standard form.

A) 47—

B) 47-13%

C) —19+43%

D) —-23-13

E) —19-13

EX

S+ 2

A _1_17.
29 24

B) 17_ 1.
29 29

c) 1,17,

E) ’921]

Simplify and write the answer in standard form.

D) 17 1.

E) 17, 1.

11
Simplify [m"—S } and write the answer in standard form.

A) —243.[3
B) 59, 049./3;
C) —243. 3

D) The expression cannot be simplified.

E) 24z./3;
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Solve 9+ 16z~ +24x = 0 by factoring.

A) 33
474

B) =43
C) x=-3,-4
D) ,__4 4
373

E) . 3

x=-3

Solve the following quadratic equation by factoring.
(p+a)’-360° =0

A) p=ua, —36b

B) p=a—6i,a+bd

C) p=-a, 36k

D) p=-a+&h-a— tb
E) p=—at+bba+tbtd

Solve 0= 16x% +40x + 15 using the quadratic formula.

A) +.410
xr=
4
B) x:%
C) ~5% 410
r=—
4
D)  —a+.f10
x=—F"
5
E) 5+ 010
r=——
4
Solve the following equation using any convenient method.
(x+2)% = -81
A) x=-2+%
B) x=-2,9
C) x=-81,9
D) x=-81,-2

E) x=-9+2
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Find all solutions of — +E+ 16=10.
.'-’E
A x=-2,-8
B) x=-2,8
¢ ,._1_1
27 B
D) ,__1 1
1076
E) .1 _1
0 6

Find all solutions of the following equation algebraically.

3 jx—d4 —afx—3=0

A __5
B)x:%
c)  _33

-8
D)x:%
E)ng

Find all solutions of the following equation algebraically.
(x+312% = 25
A) x=22

B) = ?\}% -3
C) 125
9
D) x=122
E) »= if% -5
Find the x-intercepts of the graph of the equation ¥ = 7x + /10— 48%x
A) (—10,0)

B) (110 [E%i’m]

©) 10, [j%,a]
D) (10,0)
E)(1omj[§-:
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Set » =0 and solve the resulting equation.

y=2a7 -2 1

N

A) y=-3139

B) y==2

C) ¥y=-3,8

D) y==8

E) y=%

Solve: 3(x—4)=3x-9
A) no solution

B) <-4
C) 3«x=4
D) =3
E) x=-8
Use absolute value notation to define the interval shown below.
—af ] I »
-1 9

A) 5—|x+4|=0
B) |x—4[-520

C) F4-x|=5
D) |x+4|-5=0
E) -1=xx=9

Solve the inequality 3éx — x> <0 and write the solution set in interval notation.

A) (=607 (6,00)
B) (6,6}
C) (—oo,c0)
D) (—oo,—61w(0,6)
E) (—o0,6)
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23. Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic
limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, # = k4 where k is the measure of the stiffness of the spring and is called the
spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 3.5
40 6.3
60 10.0
80 13.3
100 16.5
Sketch a scatter plot of the data.
A) . g D) i a
A0 - A0
F F 3
407 ni -
:|||||||||||||||||||| :f'rrrrrrn'|'|'|'|'|'|'|'|T|'I'|'FI'|'FI'F
2 4 B 8 10 2 3 4 5 B
d d
B) . a E) i a
A0 - A0
F F 3
0l - ni -
:f'I'ITI'I'ITI'I'I'I'I'|'I'I'ITI'I'I'I'I'|'I'I'r :|||||||||||||||||||||
1 2 3 5 10
d
C) . .
GE .
o
o] -
:'i"rrn'rrrrrrrn'rrrn'rrrrrrrr
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Hooke’s Law states that the force F required to compress or stretch a spring (within its elastic
limits) is proportional to the distance d that the spring is compressed or stretched from its original
length. Thatis, = k4 where k is the measure of the stiffness of the spring and is called the
spring constant. The table below shows the elongation d in centimeters of a spring when a force
of F kilograms is applied.

Force, F Elongation, d
20 1.4
40 2.5
60 4.0
80 5.3
100 6.6

Find the equation of the line that seems to best fit the data. Use the model to estimate the
elongation of the spring when a force of 70 kilograms is applied. Round your answer to one
decimal place.

A) 2.3 centimeters

B) 4.6 centimeters

C) 6.9 centimeters

D) 9.2 centimeters

E) 3.5 centimeters

The average lengths L of cellular phone calls in minutes from 1999 to 2004 are shown in the table
below.

ﬁ Year Average length, L.
{In minutes)
1999 238
2000 2.56
2001 274
2002 373
2003 287
2004 5

Use the regression feature of a graphing utility to find a linear model for the data. Let t represent
the year, with t =9 corresponding to 1999. Use the model to predict the average lengths of
cellular phone calls for the year 2012. Round your answer to two decimal places.

A) 5.00 minutes

B) 8.00 minutes

C) 4.00 minutes

D) 2.00 minutes

E) 3.00 minutes
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